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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
Instruction : All questions carry equal marks  

    ›÷ÄõÁõà …˜ÛÇÛ×ïõÛé : 
    Necessary Constants : 

    R = 1.987 ïéõÅÛÁõà/Ü¦ø•Ûóà/¾ÛÛéÅÛ = 8.314 ›æ÷ÅÛ/Ü¦ø•Ûóà/¾ÛÛéÅÛ 

    R = 1.987 cal ⋅ deg
–1

 mole
–1

 = 8.314 J ⋅ deg
–1

 ⋅ mole
–1 

    N = 6.022 × 10
23

 ¾ÛÛéÅÛ–1
 

    N = 6.022 × 10
23

 mole
–1

 

    h = 6.623 × 10
–27

 …•ÛÙ ⋅ ÍÛéï×õ¦ø = 6.623 × 10
–34

 ›æ÷ÅÛ ⋅ ÍÛéï×õ¦ø 
    h = 6.623 × 10

–27
 erg ⋅ sec = 6.623 × 10

–34
 J ⋅ sec 

    c = 3.0 × 10
10

 ÍÛé¾Ûà/ÍÛéï×õ¦ø = 3.0 × 10
8
 ¾Ûà¤øÁ/ÍÛéï×õ¦ø 

    c = 3.0 × 10
10

 cm ⋅ sec
–1

 = 3.0 × 10
8
 m ⋅ sec

–1
 

    F = 96500 ïäõÅÛ×¼Û 
    F = 96500 Coulomb 
 

1. (a) •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : 8 
  Answer any two of the following : 

  (1) ŠÌ¨Û©ÛÛ¾ÛÛ¶Û ÍÛÛ¬Ûé ÍÛ¾Û©ÛÛéÅÛ¶Û …˜ÛÇÛ×ïõ¶ÛÛ× ºéõÁõºõÛÁõ¶Ûé ÍÛÛ×ïõÇà ÅÛé©Ûä× ÈÛÛñ¶¤øÐüÛéºõ ÍÛ¾ÛàïõÁõ¨Û 
¾ÛéÇÈÛÛé. 

   Derive the Vant Hoff equation relating the change in equilibrium constant 

with temperature. 

  (2) ¶Ûà˜Ûé¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ŠÌ¾ÛÛ•ÛÜ©ÛÉÛÛÍªÛàýÛ Áõà©Ûé ¾ÛéÇÈÛÛé. 

   Kb = 
R T

2

b

1000 lv
 šýÛÛ× 

     Tb – ®ùÛÈÛïõ¶Ûä× Š©ïõÅÛ¶Û Ý¼Ûþäù 

     lv – ®ùÛÈÛïõ¶Ûà ¼ÛÛÌ¸ÛÛýÛ¶Û ŠÌ¾ÛÛ ¸ÛóÜ©Û •ÛóÛ¾Û 

     Kb – ¾ÛÛéÅÛÅÛ Š·ÛýÛ¶Û …˜ÛÇÛ×ïõ 
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   Derive thermodynamically the following equation : 

   Kb = 
R T

2

b

1000 lv
 where 

     Tb – boiling point of the solvent. 

     lv – latent heat of vaporization of solvent per gram 

     Kb – molal elevation constant 

  (3) ’õÛ¹¤ø¶ÛÛ ÍÛ¾ÛàïõÁõ¨Û Š¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

   Write note on Craft’s equation. 

  (4) ŠÌ¾ÛÛ•ÛÜ©ÛÉÛÛÍªÛ¶ÛÛé ªÛà›Ûé Ü¶ÛýÛ¾Û ÅÛ”ÛÛé. …Û Ü¶ÛýÛ¾Û ¸ÛÁõ¬Ûà ¸ÛþùÛ¬ÛÙ¶Ûà …é¶¤ÖøÛé¸Ûà ïéõÈÛà Áõà©Ûé 
¾ÛéÇÈÛà ÉÛïõÛýÛ ™öé ©Ûé þùÉÛÛÙÈÛÛé. 

   State the third law of thermodynamics and show how the absolute entropy of 

a substance can be obtained with the help of this law. 

 (b) •Û¾Ûé ©Ûé …éïõ þùÛ”ÛÅÛÛé •Û¨ÛÛé :  4 

  Calculate any one of the following example : 

  (1) 25 °C ©ÛÛ¸Û¾ÛÛ¶Ûé …éïõ ¸ÛóÜ’õýÛÛ¶ÛÛé ÍÛ¾Û©ÛÛéÅÛ¶Û …˜ÛÇÛ×ïõ 1.00 × 10–4 ™öé. 35 °C ©ÛÛ¸Û¾ÛÛ¶Ûé …Û 
¸ÛóÜ’õýÛÛ¶ÛÛé ÍÛ¾Û©ÛÛéÅÛ¶Û …˜ÛÇÛ×ïõ •Û¨ÛÛé. ∆H = 12600 ïéõÅÛÁõà (∆H ¶Ûä× ¾ÛæÅýÛ ©ÛÛ¸Û¾ÛÛ¶Û¬Ûà 
ÍÈÛ©Û×ªÛ ™öé ©Ûé¾Û µÛÛÁõÈÛä×) 

   The equilibrium constant of a reaction at 25 °C is 1.0 × 10–4. Calculate 

equilibrium constant of this reaction at 35 °C.  ∆H = 12600 cal. (Assume that 

∆H is independent from temperature). 

  (2) ¸ÛóÈÛÛÐüà 2, 2, 4 ¤ÖøÛýÛÜ¾Û¬ÛÛˆÅÛ ¸Ûé¶¤éø¶Û¶ÛÛ× ¼ÛÛÌ¸Ûþù¼ÛÛ¨Û 20.7 °C …¶Ûé 29.1 °C ©ÛÛ¸Û¾ÛÛ¶Ûé 
…¶Ûä’õ¾Ûé 40 …¶Ûé 60 ¾Ûà.¾Ûà. ™öé. ¸ÛóÈÛÛÐüà¶Ûà ¼ÛÛÌ¸ÛÛýÛ¶Û ŠÌ¾ÛÛ •Û¨ÛÛé. 

   The vapour pressure of 2, 2, 4 tri methyl pentane at 20.7 °C and 29.1 °C are 

40 mm and 60 mm respectively. Calculate heat of vaporization of the liquid. 

 (c) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 2 

  Answer any two of the following questions in one or two lines : 

  (1) ŠÌ¨Û©ÛÛ¾ÛÛ¶Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Temperature. 

  (2) ¤ÖøÛé¤ø¶Û¶ÛÛé Ü¶ÛýÛ¾Û ÅÛ”Ûà ©Ûé¾ÛÛ× …ÛÈÛ©ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé. 

   Write Trauton’s equation and explain the terms. 

  (3) ¾ÛÛéÅÛÅÛ …ÈÛ¶ÛýÛ¶Û …˜ÛÇÛ×ïõ Kf¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Molal depression constant Kf. 

  (4) ÁõÛÍÛÛýÛÜ¨Ûïõ ¸ÛÛé¤éøÜ¶ÉÛýÛÅÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Chemical Potential. 
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2. (a) •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : 8 

  Answer any two of the following : 

  (1) îÈÛà¶Û ÐüÛˆ¦ÖøÛé¶Û ÜÈÛ›÷µÛóæÈÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

   Write note on Quinhydrone electrode. 

  (2) ¸ÛóÈÛÛÐüà-¸ÛóÈÛÛÐüà ›×÷îÉÛ¶Û ¸ÛÛé¤éøÜ¶ÉÛýÛÅÛ …é¤øÅÛé ÉÛä× ? ©Ûé ¾ÛÛ¤éø¶ÛÛ× ¸ÛÛé¤éøÜ¶ÉÛýÛÅÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û 
¾ÛéÇÈÛÛé. ©Ûé …ÍÛÁõ ïéõÈÛà Áõà©Ûé ¶ÛÛ¼Ûæþù ïõÁõà ÉÛïõÛýÛ ™öé ©Ûé ›÷¨ÛÛÈÛÛé ? 

   What is liquid-liquid junction potential ? Derive the equation for that 

potential. How this effect is nullified ? 

  (3) …Å¸Û®ùÛÈýÛ “ÛÛÁõ¶Ûà ®ùÛÈýÛ©ÛÛ …¶Ûé ®ùÛÈýÛ©ÛÛ •Ûä̈ ÛÛïõÛÁõ ¶Û‘õà ïõÁõÈÛÛ¾ÛÛ× e.m.f. ¾ÛÛ¸Û¶Û¶ÛÛ× 
Š¸ÛýÛÛé•Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

   Discuss the use of e.m.f. measurement for determination of Solubility and 

Solubility Product of sparingly soluble salt. 

  (4) ¤øÛºéõÅÛ ÍÛ¾ÛàïõÁõ¨Û Š¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

   Write note on Tafel’s equation. 

 (b) •Û¾Ûé ©Ûé …éïõ þùÛ”ÛÅÛÛé •Û¨ÛÛé.   4 

  Calculate any one of the following example : 

  (1) 25 °C ©ÛÛ¸Û¾ÛÛ¶Ûé ¶Ûà˜Ûé¶Ûà ¸ÛóÜ’õýÛÛ¶ÛÛé ÍÛ×©ÛäÅÛ¶Û …˜ÛÇÛ×ïõ •Û¨ÛÛé. 

   2Fe+2 + I2 
→
← 2Fe+3 + 2I– 

   E°
Fe+3/Fe+2 = 0.771 ÈÛÛñÅ¤ø, E°

I
2
/I– = 0.535 ÈÛÛñÅ¤ø 

   Calculate equilibrium constant at 25 °C of the following reaction : 

   2Fe+2 + I2 
→
← 2Fe+3 + 2I– 

   E°
Fe+3/Fe+2 = 0.771 volt, E°

I
2
/I– = 0.535 volt 

  (2) Sn + Pb+2 → Sn+2 + Pb ¸ÛóÜ’õýÛÛ ¾ÛÛ¤éø 25 °C ©ÛÛ¸Û¾ÛÛ¶Ûé ÍÛ×©ÛäÅÛ¶Û …˜ÛÇÛ×ïõ¶Ûà •Û¨Û©ÛÁõà 
ïõÁõÛé. 

   E°
Sn/Sn+2 = 0.140 ÈÛÛñÅ¤ø, E°

Pb/Pb+2 = 0.126 ÈÛÛñÅ¤ø 

   25 °C ©ÛÛ¸Û¾ÛÛ¶Ûé 2.303 
RT

F
 = 0.05915 ™öé. 

   Calculate equilibrium constant of the following reaction at 25 °C temperature. 

   Sn + Pb+2 → Sn+2 + Pb 

   E°
Sn/Sn+2 = 0.140 volt, E°

Pb/Pb+2 = 0.126 volt 

   At 25 °C 2.303 
RT

F
 = 0.05915. 
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 (c) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 2 

  Answer any two of the following questions in one or two lines : 

  (1) ÍÛÛ×®ù©ÛÛ ïõÛéÌÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Concentration Cell. 

  (2) ¸ÛóÜ©ÛÈÛ©Ûâ ïõÛéÌÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Reversible Cell. 

  (3) ÜÈÛ–Û¤ø¶Û ÈÛÛñÅ¤éø›÷ …é¤øÅÛé ÉÛä× ? 

   What is Decomposition Voltage ? 

  (4) ÍÛ×þù½ÛÙ ÜÈÛ›÷µÛóæÈÛ …é¤øÅÛé ÉÛä× ? 

   What is Reference Electrode ? 

 

3. (a) Ü³ùÜ©ÛýÛïõ “ÛÛÁõ …ÍÛÁõ ÍÛ¾Û›ÛÈÛÛé. 4 

  Explain Secondary Salt Effect. 

…¬ÛÈÛÛ/OR 

  27 °C ©ÛÛ¸Û¾ÛÛ¶Ûé PCl
5 

¶ÛÛ ÜÈÛ–Û¤ø¶Û¶Ûà ¸ÛóÜ’õýÛÛ¶ÛÛé þùÁõ 4.378 × 10–5 ÍÛéï×õ¦ø–1 ™öé. ¸ÛóÜ’õýÛÛ ¾ÛÛ¤éø 
…ÛÈÛèÜ«Û …ÈÛýÛÈÛ 4.3 × 1013 ÍÛéï×õ¦ø–1 ÐüÛéýÛ ©ÛÛé ÍÛÜ’õýÛïõÁõ¨Û ÉÛÜî©Û¶Ûä× ¾ÛæÅýÛ ÉÛÛéµÛÛé. 

   (R = 1.987 ïéõÅÛÁõà Ü¦ø•Ûóà–1 ¾ÛÛéÅÛ–1) 

  At 27 °C temperature the rate of decomposition of PCl
5
 is 4.378 × 10–5 sec–1. The 

frequency factor A for the reaction is 4.3 × 1013 sec–1. Calculate the value of 

activation energy. (R = 1.987 cal ⋅ deg–1 ⋅ mole–1) 

 (b) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé.  8 

  Answer the following questions : 

  (1) Ü¶ÛýÛ©Û Š©ïõÅÛ¶ÛÝ¼Ûþäù µÛÁõÛÈÛ©ÛÛ Ü¾ÛËÛ¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

   Discuss the Azeotropic mixtures. 

…¬ÛÈÛÛ/OR 

   ¡öÛé¶Û ÉÛäÜ±ùïõÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

   Write a note on Zone refining. 

  (2) ¸ÛÛéÅÛà¾ÛÍÛÙ¶Ûä× ÈÛ•ÛâïõÁõ¨Û ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé …Û¸ÛÛé. 

   Give the classification of Polymers with example. 

…¬ÛÈÛÛ/OR 

   ¸ÛÛéÅÛà¾ÛÁõ ®ùÛÈýÛ©ÛÛ¶Ûä× ŠÌ¾ÛÛ•ÛÜ©ÛÉÛÛÍªÛ ÍÛ¾Û›ÛÈÛÛé. 

   Explain thermodynamics of Polymer dissolution. 
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 (c) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 2 
  Answer any two of the following questions in one or two lines : 

  (1) “ÛÛÁõ …ÍÛÁõ …é¤øÅÛé ÉÛä× ? 
   What is Salt effect ? 

  (2) …ÈÛýÛÈÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Component. 

  (3) ¸ÛÛéÅÛà¾ÛÁõÛˆ¡éöÉÛ¶Û …é¤øÅÛé ÉÛä× ? 
   What is Polymerization ? 

  (4) ÍÛä•ÛÅÛ¶ÛÝ¼Ûþäù …é¤øÅÛé ÉÛä× ? 
   What is Eutectic Point ? 

 

4. (a) ¶ÛÛýÛÁõ¶ÛÛ× Ü³ùïéõ¶®ùàïõÁõ¨Û ¾ÛÛÍÛ Í¸Ûéî¤ÖøÛé•ÛóÛºõ¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 4 
  Describe Nier’s double Focussing Mass Spectrograph. 

…¬ÛÈÛÛ/OR 

  ¤ÖéøÍÛÁõ ¤éøïõÜ¶Ûïõ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a note on Tracer-Technique. 

 (b) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé.  8 
  Answer the following questions : 

  (1) …Ûé¬ÛÛë …¶Ûé ¸ÛéÁõÛ ÐüÛˆ¦ÖøÛé›÷¶Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a note on Ortho and Para hydrogen. 

…¬ÛÈÛÛ/OR 

   …¨Ûä…Ûé¶ÛÛ× ¸ÛÜÁõ½Ûó¾Û¨ÛàýÛ ÈÛ¨ÛÙ̧ Û¤Õø¤ø ¾ÛÛ¤éø¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé. 
   Derive an equation for the rotational spectra of Molecules. 

  (2) ÁõÍÛÛýÛ¨Û ÍºæõÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a note on Chemilaminescence. 

…¬ÛÈÛÛ/OR 

   ¸ÛóïõÛÉÛ ÍÛ×ÈÛéÜþù©Û ¸ÛóÜ’õýÛÛ…Ûé Š¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a note on Photosensitized reactions. 

 (c) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. (•Û¾Ûé ©Ûé ¼Û é) 2 
  Answer any two of the following questions in one or two lines : 

  (1) ¸ÛÜÁõ½Ûó¾Û¨ÛàýÛ ÈÛ¨ÛÙ̧ Û¤Õø¤ø¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Rotational Spectra. 

  (2) îÈÛÛ¶¤ø¾Û “Û¾Û©ÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Quantum Efficiency. 

  (3) ¸ÛóÍºæõÁõ¨Û …é¤øÅÛé ÉÛä× ? 
   What is Fluorescence ? 

  (4) ïéõ¶®ùàýÛ ”Û×¦ø¶Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Nuclear Fission. 
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5. (a) •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. 8 
  Answer any two of the following : 

  (1) ¸ÛóÜ©Û•ÛÛ¾Ûà …Ü½ÛÍÛÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write note on Reverse Osmosis. 

  (2) ¼ÛÇ©Û¨Û ïõÛéÌÛÛé ÉÛä× ™öé ? …ÛÈÛÛ ïõÛéÌÛÛé¾ÛÛ× Ü™ö®ùÛÇä ÜÈÛ›÷µÛóæÈÛ¶ÛÛé Š¸ÛýÛÛé•Û ÉÛÛ ¾ÛÛ¤éø ïõÁõÈÛÛ¾ÛÛ× 
…ÛÈÛé ™öé ? 

   What are Fuel cells ? Why Porous electrodes are used in such cells ? 

  (3) Ü¦øºõÁéõÜ¶ÉÛýÛÅÛ …éÁéõÉÛ¶Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 
   Explain the Differential aeration principle. 

  (4) …Ûíé²ÛéÜ•Ûïõ ¶ÛïõÛ¾ÛÛ× ¸ÛóÈÛÛÐüà¾ÛÛ×¬Ûà Cu, Ag …¶Ûé Fe ïéõÈÛà Áõà©Ûé ¸ÛÛ™öÛ× ¾ÛéÇÈÛà ÉÛïõÛýÛ ™öé ? 
   Recovery of Cu, Ag and Fe from wastage industrial solution materials. 

 (b) •Û¾Ûé ©Ûé …éïõ þùÛ”ÛÅÛÛé •Û¨ÛÛé.  4 
  Calculate any one of the following example : 

  (1) Ü¸Û•ÛÛÇéÅÛÛ× NaCl ¾ÛÛ× ÜÈÛ²ä©ÛÜÈÛ½ÛÛ›÷¶Û þùÁõ¾ýÛÛ¶Û 15 …éÜ¾¸ÛýÛÁõ ÜÈÛ›÷¸ÛóÈÛÛÐü 4 Ü¾ÛÜ¶Û¤ø ¾ÛÛ¤éø 
¸ÛÍÛÛÁõ ïõÁõ©ÛÛ ïéõ¤øÅÛÛ× •ÛóÛ¾Û …ÛñÜîÍÛ›÷¶Û ÈÛÛýÛä Š©¸Û·Û ¬ÛÉÛé ? (Cl = 35.5 •ÛóÛ¾Û) 

   How many grams of oxygen gas can be produced by electrolysis of Molten 

NaCl at a current of 15 ampere for 4 minutes ? (Cl = 35.5 gram) 

  (2) 25 °C ©ÛÛ¸Û¾ÛÛ¶Ûé pH = 10 ÈÛÛÇÛ ®ùÛÈÛ¨Û¾ÛÛ× ÅÛÛé”Û×¦ø¶Ûä× “ÛÛÁõ¨Û ¬ÛÉÛé ? 

   ÍÛ¾Û›ÛÈÛÛé : E°
Fe/Fe+2 = 0.440 ÈÛÛñÅ¤ø 

   ¸ÛóÜ’õýÛÛ O2 + 2H2O + 4e– → 4OH– ¾ÛÛ¤éø E° = 0.401 ÈÛÛñÅ¤ø 

   Will iron corrode in neutral solution of pH = 10 at 25 °C temperature ? 

   E°
Fe/Fe+2 = 0.440 volt. 

   For reaction O2 + 2H2O + 4e– → 4OH–  E° = 0.401 volt 

 (c) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 2 

  Answer any two of the following questions in one or two lines : 

  (1) ¼ÛÇ©Û¨Û ïõÛéÌÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Fuel Cell. 

  (2) ¸ÛóþæùÌÛ¨Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Pollution. 

  (3) …é¶ÛÛé¦ø …¶Ûé ïéõ¬ÛÛé¦ø¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Define Anode and Cathode. 

  (4) µÛÛ©Ûä“ÛÛÁõ¨Û …¤øïõÛÈÛÈÛÛ¶Ûà Áõà©ÛÛé¶ÛÛ× ¶ÛÛ¾Û …Û¸ÛÛé. 
   Give the names of methods to prevent Metal Corrosion. 

_____________ 


